
2014 / TC 125 HQV

CYLINDER, CYLINDER HEAD

C148133051

Position Part number Description Qty

1 50337001200 INTERMEDIATE FLANGE 125 06 1

5 50330038600 CYLINDER+PISTON CPL. 1

6 50330006600 CYLINDERHEAD 125 SX/EXC 2011 1

8 0835080276 STUD DIN0835-M 8X27 4

30 0770062020 O-RING 62,00X2,00 VITON 1

32 0603070121 CU-SEAL RING DIN7603- 7,3X12X1 6

34 0770012021 O-RING 12X2 VITON GREEN 1

CYLINDER, CYLINDER HEAD http://sparepartsfinder.husqvarna-motorcycles.com/Print.aspx?includePa...

1 of 2 11/06/2014 15:14



35 50330035020 CYLINDER BASE GASKET 0,20MM 0

35 50330035025 CYLINDER BASE GASKET 0,25MM 0

35 50330035040 CYLINDER BASE GASKET 0,40MM 0

35 50330035050 CYLINDER BASE GASKET 0,50MM 0

35 50330035075 CYLINDER BASE GASKET 0,75MM 0

37 0770086020 O-RING 86X2 VITON75SHORE GREEN 1

40 0014050203 HH COLLAR SCREW M 5X20 WS=6 6

45 50330045000 HH COLLAR NUT M 8 WS=12 4

46 50337046300 INTERMEDIATE FLANGE GASKET 1

74 51005074000 RETAINING PLATE 2

77 0025060106 HH COLLAR SCREW M6X10 TX30 1

78 0603061001 CU-SEAL RING DIN7603-6X10X1 1

79 50330079000 CYL. HEAD BOLT M 7X30 WS=10 6

99 50330097100 CYLINDER GASKET SET 125/200 07 0

CYLINDER, CYLINDER HEAD http://sparepartsfinder.husqvarna-motorcycles.com/Print.aspx?includePa...

2 of 2 11/06/2014 15:14


